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Note :
i) The question paper is divided into two parts — Part-A and Part—B,.

ij) Part-A and Part-B are divided into three Sub-Sections — (1), (2) ang
(3). |

i) In Part-A of the question paper, there are multiple choice questions in
which select the correct alternative and then by a blue or black ball.
point pen, fill completely in the circle in OMR Answer Sheet. Do not
erase, cut or use whitener on the OMR Answer Sheet after answering,

iv) 1 mark is allotted for each question in the multiple choice ‘question of
Part-A.

v)  Part-B has descriptive questions.

vi) The allotted marks are given in each question.

vii) All the questions of Sub-Sections of Part-B are to be attempted all at a

time. Start each Sub-Section from a new page.

viii) All the questions are compulsorj.

qug - H
PART - A
( TEfrhedta W )
( Multiple Choice Type Questions )
ITUTT - (1)
Sub-Section - (1)
1. fope ofw & s%g 1 Widfars smureht, dat st g A S swan 2 2

(A) 3TEad oF (B) It @d
(C) wHdd wid D) T & HE T 1
1. From which lens the image of object formed is virtual, erect and smaller

than the object ?
(A) Concave lens '(B) Convex lens

(C) Plane lens (D) None of these ]
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T T QU S Tha e qur g 3 ofvw 1 gt 20 Bt 31 TN F yw A v

<1 gt Fn gt 2
(A) 53 B) 109d

© 153 20 it

(D) 1

In a spherical mirror the distance between its centre of curvature and

pole is 20 cm. What is the distance of focus from the pole of mirror ?

(A) Scm (B) 10 crﬁ

(C) 15cm (D) 20cm 1
YT % FoRE T % s sy Hren Rard e & ?

(A) TUSEH | (B) 3T9add

(€ fadam (D) WA - 1
Due to which phenomenon of light does the sky appear blue ?

(A} Reflection | (B) Refraction

(C} Dispersion (D) Scattering 1
o oty 1 g +2 SR 1 3Eeh wiwd gt A feeelt g 2

(A) + S0 (B) -50

C) +25 (D) -25 1
’I;he power of a lens is + 2 dioptre. What will be its focal 1&ngth incm?
a) +50 ® -50

© +25 O -25 !
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S.

W AR F1 Frffed o, fred R & e ar & doft s F ey smar ¢
(A)  y-wmh AR B) oA
(C) Sy ar D) T & ¥ T I

In which of the following wires of domestic electric distribution is the

fuse wire connected in series ?

(A) Earth-connected wire (B) Neutral wire

(C) Live wire (D) None of these . ]
afy wfw, w1 w0 W@ F AH T x, x,,x, ¥ VK Re A A
Prefiea § w-o wa @ R 2

(A) X[ Xy = Xq (B) X X5 = X,

(C)  x,.xy =x (D) x. x,. Xy =1 1
If the units of power, work and time are represented by Xy Xg) xé

respectively, then which of the following relations is correct ?

(A)  x.x,=x, (B) x.x;=x,
C) x,.x, =X D) x.x,. x;=1 1

T | A 1o@mﬁﬂmm©ﬁ%lsﬂ%wz@mﬁmﬁﬁ
aTet A < A fea Bt 2 |
(A) 10 W (B) S5%aH

(C) 20 %™ (D) 25 %dH 1
In a conductpr 10 ampere of current is flowing. What will be the amount
of charge flowing in-2 second corresponding to it ?

(A) 10 coﬁlomb '(B) S5 coulomb

(C) 20 coulomb (D) 25 coulomb o

8000/80



ITHET- (2)

Sub-Section - (2)

8. AR A% ITE 1 g B

(A) CaSO4.%H20 (B)

(€) CaSO,.H,0 (D)
8. The formula cﬁ plaster of Paris is

(A) CasS0,.1H,0 (B)

(€} CaSO,.H,0 (D)
9. pH #H 8-S aren fyeem 2

(A) alE (B)

(C) S<H (D)
9, The solution with pH 8:Sis

(A) alkaline (B)

(C) neutral (D)
10.  CHz—CH—CHO ¥ IUPAC 7™ ?

CH,

(A) =™ (B)

(C) 2-Bda WA (D)
10.  IUPAC name of -8 G HO 4

CH,

(A) Butanal (B)

(C) 2-methyl propanal (D)
11. «red |19 ¥ 7 geagl 9 ad @

(A) 3urg (B)

(C) Iqurg (D)
8000/80

CaSO,.2H,0
CaS0,.5H,0

CaS0,.2H,0
CaS0,.5H,0

A
7 ¥ HI§ T

acidic

none of these

et
2-Afe WA

Butanol

2-methyl propanol

aid
fafsra
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11.

12.

12.

13.

13.

14,

14.

The element having 7 electrons in its outermost orbit is

(A) Non-metal (B) Metal
(C) Metalloid | (D) Inert gas
Ffcwam ez w1 TuRiE g7 2

(A) CcaNO, (B) Ca(NO,),
(C) Ca,NO, (D) ca,NO,

Chemical formula of ‘calcium nitrate is

(A} CaNO, ' (B)  Ca(NO,),
(C) CayNO, (D) Ca,NO,
fr=fafaa 3 @ srqw aegieeT

(A) C,H, (B) CH,

(C) CéHG (D) C,H,

An unsaturated hydrocarbon in the following is

(A) CoH, (B) CH,
(C) C,H, (D) C,H,
ITUTT - (3)

Sub-Section - (3)

T AT I R
(A) TR g (B) WU g
(C) IHREH g (D) ISR grr
Blood pressure is measured by;
(A) Sphygmomanometer (B) Stethoscope
(C) Microscope (D) Micrometer
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15.

15.

16.

16.

17.

17.

18.

18.
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Frefrfea 3 & B-a1 ey i 2 -

(A) ST (B) ggﬁ‘q:{

(C) uEERMA (D) TR I
Which of the following is plant hormone ? |

(A) Thyroxin (B) Insulin

(C) Cytokinin (D) OEst'rogen. 1
wferft qoy &

(A)  TEEA (B) Wt

(C) wwEi (D) T 1
Unisexual flower is’

(A) Hibiscus (B) Papaya

(C) Mustard (D) Rose 1
I T IETE |

(A)  ETES (B) wmfsem

(C) ovdfian (D) wAAfE 1
Example of regeneration is

(A) Hydra (B) Bryophyllum

(C) Amoeba (D) Planaria 1
3N R 1 &Ror e # F fohaes SR g @ 2

(A) AT (B) &g

(C) TTHT SEHTFES D) FEAREISET 1
Depletion of ozone layer is caused by which of the following ?

(A) Oxygen (B)  Vapour

(C) Sulphur dioxide (D) * Clorofluorocarbon 1
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19.  wTepfoe IfEH 7
(a) ™A (B) & Sftawmet
(C) @« D) =
19. Natural ecosystem is
(A) Flower pots (B) Aquarium
(C) Farm " (D) Forest
20.  ITER @ # IACH B §
Aa) =@ - @ @
(€ i D) ®M w Fe-gha d
20.  Producer in a food chain is
~{A) Rat
(B) Cat
(C) Rabbit
(D) Green plant and blue-green algae 1
| gue - ¥
PART - B
( AU T )

( Descriptive Questions )
IqUTT - (1)
| Sub-Section - (1)

1. o 3w fRd we & 2 p, o, RA =Rl & g W & Femw & gy ofet % W

fafle, af

() P ¥%ad ke A 9rg w wE 2@ T R, WY B A H A

(i) Qe T H TG H Wy 2@ Ul B, Wy Feve A 7 A

(i) RTW T H TGN 3l 7 & Frore H Tg F WL 3@ T R 4
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0 824(IP)
1. What are the defects of vision ? Write down the names of the lenses used
for the correction of vision defect of three persons P, Q, Rif
(1) P can see only near objects clearly but cannot see far objects

(i)  Qcan see only far objects clearly but cannot see near obj ects

(iiif = R'can neither see far objecté nor near objects clearly. 4
2. SN QU ST ¥ YW h 9 wAG: 2.25x108 W/@ @1 2.0x108 W/ T
frafefea srvadais € e Hifre . - 4

@) Ot % ung wE w
(i) <Y % Wnw wE #

2. The speeds of light in water and glass are respectively 2-25x 10.8 m/s
and 2-0x10® m/s. Calculate the following refractive index : 4
(1) the glass relative to water

(ii) the glass relative to air.

3. mmwmﬁm-ﬁqaﬁmwmmﬁﬁtm%é T a1 H

wﬁﬁak%tuﬁﬁﬂaﬂmmamwaﬁm%mﬁmaﬁw
freun amft @ s 2 4

3. The resistance of a conductor depends on which factors and how ? The
resistance of a wire is R. What will be the resistance of the wire when the

wire is of double in length and half the radius of the same material ? 4

4, ﬁn%ﬁgaﬁaﬁima@amﬁaﬁaﬁmm%%ﬁn%ﬁmﬁma
foea wifoes aftr i fem wma i omeft 2 2 6

(i) R % 9 gy w1 Fam
(i) & g siE w1 )
gt

T W F 76g Wia @ i 9K A, B AT cﬁmﬁ%lsﬁﬁmmwm,mw
I LU T O T4 Bl @ 2 | 6
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1.

O

) +h the help
State the following laws with the help of labelled diagram- with

: n?6
of the following the direction of which physical quantity ¢an be know

(1) Fleming's left hand rule
(ii) Right hand thumb rule
OR

; i fa
Three wires A, B and C are emerging out from the main SOUrce o

house. What will be the name, function and colour of the insulation for
each wire ? 6
JAHET - (2)
Sub-Section - (2)
() T & @ vEats i ¥ veafe adeo fafe 2
(i) RS T F ATEREEE T TAEAS afiew fafa 2
(1) Write the chemical equations for two chemical properties of
ethanol. 2

(i)  Write the chemical equations for two chemical properties of acetic

acid. 5
frafafaa = awsmse 2+
(a) Tgamuea sfufsan

(b) e iR
Explain the following : 2~
(a) Double decomposition reaction

(b)  Neutralization reaction
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Feferfea o wftr foooft Rt - 2+2+2
()  pH¥MA
(i) T rfrfn
(i) <& 3rfrfmar

3rera
) SRR st 5 e i vwE Rl - 2
(i) TR % m ¥ Pream s B 1 wETRE e R 2
(i) HERW H IR GRT GHATIT 2
Write short notes on the following : : 2+2+2

(1) pH value
(i)  Oxidation reaction
(iii) Combustion reaction.
OR
(1) Write the use of bleaching powder in purification of water. 2

(i) ~ Write the chemical equation for obtaining gypsum from plaster of

Paris. 2
(iii) Explain corrosion by giving example. 2
ITUTT - (3)

Sub-Section - (3)

3T 71 @ aun ¥e et aias i fFa woR i st @ o 2+
What is ozone and how does it affect any ecosystem ? 2+ 2
W e T G i 3G it ey 540
Describe the food chain and food vffeb with examples. 2 +0
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10.

10.

11.

11.

12
frforfa o afim feooft ferfdre
(%) HIfh waH
(@) ¥l
Write short notes on the following :
(a) Vegetative propagation
(b) Budding
AT wferss 6 A1 7o fenfafy 1 afim o A
Aqar
e § St yare %1 gfm avi Hifsg)
Describe the structure and function of human brain in brief.
OR

Describe energy flow in an ecosystem with diagram.

824(IP) - 4,48,000
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